

Republic of the Philippines Office of the President

PHILIPPINE SPORTS COMMISSION

REQUEST FOR QUOTATION

The Philippine Sports Commission, through its Bids & Awards Committee, invites interested **PHILGEPS**accredited suppliers to submit SEALED and signed formal quotation/s for:

Particular		Quantity						Place of Delivery
Supply and Delivery of Various Materials to be used for	1	Description Universal Tank Fittings Lever Type, 1/2" ø with Trip Lever Water Control and	<u>Qty</u> 10	<u>Unit</u> sets	<u>Unit Cost</u> 700.00	<u>Total Cost</u> 7,000.00	220,555.00	Property and Supplies Office,
the Immediate Repair of the North	2	Flush Valve Assembly Universal Toilet Tank Flush Lever, Chrome finish, Length: 20cm	10	sets	280.00	2,800.00		Rizal Memorial Sports Complex,
and South Dormitories,	3	Stainless Steel Floor Drain, Size:4"(W) x 4"(L)	5	pcs	80.00	400.00		Pablo Ocampo
located at the RMSC	4	Brass Tubular P-Trap with Brass P.O. Plug, Chrome Plated finish, 1-1/4" Ø	15	sets	700.00	10,500.00		Sr., St., Malate, Manila
	5	Stainless Steel Angle Valve, Single, ½" ø x ½" ø	15	pcs	280.00	4,200.00		
	6	Stainless Steel Angle Valve, Double, $\frac{1}{2}$ " ø x $\frac{1}{2}$ " ø x $\frac{1}{2}$ " ø	10	pcs	320.00	3,200.00		
	7	Stainless Steel Flexible Hose, ½" ø x½" x 16" Long	30	pcs	180.00	5,400.00		
	8	Stainless Steel Heavy Duty Handheld Bidet	10	sets	550.00	5,500.00		
	9	Straight Urinal Hand Pressing Type Flush Valve, Brass, ½" ø, 82 mm(L) x 55mm(H) x 140mm Height of Pipe	1	set	2,000.00	2,000.00		
	10	Stainless Steel Lavatory Faucet, Gooseneck, 1/2" ø	20	pcs	780.00	15,600.00		
	11	Stainless Steel Wall Faucet, Satin Finish, ¹ / ₂ " ø x 140mm (L) x 100mm (H)	5	pcs	430.00	2,150.00		
	12	Heavy Duty Shower valve with handle inlet and Outlet, (Straight), Brass, 1/2" ø x ½" ø x	5	sets	980.00	4,900.00		
		7cm (W) x 13.5cm (L) ***more	e on ne	ext page**	*			

13	Fixed Wall Mount	5	sets	650.00	3,250.00	
	Shower Head, polished					
	Chrome Finish, 1/2" ø x					
	x 102mm (W) x 220mm					
	(L)					
14	Teflon Tape, 3⁄4" Wide	50	pcs	30.00	1,500.00	
15	Wall Putty for Cement	1	pail	2,600.00	2,600.00	
	28 kilos per pail		•	,	,	
16	Flat Latex Paint, White	3	gals	620.00	1,860.00	
17	Semi-Gloss Latex	6	gals	730.00	4,380.00	
17	Paint, White	0	gais	700.00	4,000.00	
	Flat Wall Enamel,					
18	White	3	gals	660.00	1,980.00	
19	Semi-Gloss Enamel,	6	gals	650.00	3,900.00	
10	White	U	guio	000.00	0,000.00	
20		1	aol	195 00	195 00	
20	Quick Dry Enamel,	1	gal	485.00	485.00	
	Chocolate Brown				0 400 00	
21	Cementitious	4	gals	850.00	3,400.00	
	Waterproofing					
	(Branded), 100%					
	Acrylic (Specially					
	Formulated Acrylic					
	Polymer), 4 liters in 1					
	Gal			~~~ ~~		
22	Paint Thinner, 4L in 1	3	gals	385.00	1,155.00	
	gal					
23	Lacquer Thinner, 4L in	3	gals	480.00	1,440.00	
	1 gal					
24	Patching Compound	2	bags	480.00	960.00	
	@20 kilos per bag					
25	Waterproof	2	dozens	240.00	480.00	
	Sandpaper, # 240					
26	Waterproof	2	dozens	240.00	480.00	
	Sandpaper, # 150	-	0.020110			
27	Waterproof	2	dozens	240.00	480.00	
21	Sandpaper, # 80	2	0026113	240.00	400.00	
20		2	noire	40.00	100.00	
28	Carbon Steel Putty Plate without Handle,	3	pairs	40.00	120.00	
	6"					
20		2		80.00	240.00	
29	Stainless Steel Putty	3	pcs	80.00	240.00	
	Knife with Plastic					
_	Handle with Rubber,4"	-			000 00	
30	Stainless Steel Putty	3	pcs	110.00	330.00	
	Knife with Plastic					
	Handle with Rubber,6"					
31	Paint Roller (Cotton)	6	sets	80.00	480.00	
	with Handle and Tray,					
	7"					
32	Baby Roller with	6	pcs	50.00	300.00	
	Handle (Cotton), 4"					
33	Paint Brush, 1"	6	pcs	20.00	120.00	
34	Paint Brush, 2"	6	pcs	40.00	240.00	
35	Paint Brush, 2"	6	pcs	40.00 60.00	360.00	
36		3	rolls			
30	Masking Tape, 2" x 50m	3	10115	70.00	210.00	
-	Long, Color: Beige	~		05.00	470.00	
37	Estopa Rugs, Round	2	kilos	85.00	170.00	
	more on next page					

38	LED Bulb, 11 Watts,	20	pcs	150.00	3,000.00	
	Daylight, 1100 Lumens					
39	LED Bulb, 15 Watts,	10	pcs	225.00	2,250.00	
10	Daylight, 1600 Lumens	4.0				
40	Fluorescent Lamp	10	pcs	90.00	900.00	
	Tube , 36 Watts, Cool White, 2500 Lumens					
41	Ceiling Mounted	10	pcs	1,200.00	12,000.00	
	Exhaust Fan,	10	poo	1,200.00	12,000.00	
	Installation Dimension:					
	10" (W) x 10" (L), Case					
	Size: 28.5cm (L) x 16.5					
	cm (W) x 28.5cm (H)					
	230V, 60Hz, 30W,11.0					
	cum/min Airflow, 50dB					
42	Noise Level PVC Blank Plate	F	000	50.00	250.00	
42	Cover , White	5	pcs	50.00	250.00	
43	One Gang Switch with	5	sets	120.00	600.00	
+3	LED Indicator and	5	3013	120.00	000.00	
	Plate Cover, 250V					
44	Stainless Steel Heavy	15	pairs	720.00	10,800.00	
	Duty Loose Pin		•		,	
	Hinges, Size: 3" (W) x					
	3" (L)	-				
45	Indicator Bathroom	2	sets	1,800.00	3,600.00	
	Toilet Door Lock for					
	Phenolic Partition,					
	Black Buckle Handle, Nylon Plastic, 5cm ø x					
	x 7.5cm Long					
46	Door Lockset , Single	5	sets	750.00	3,750.00	
40	Lock Door Knob,	U	0010	100.00	0,700.00	
	Round Type Handle,					
	Chrome/Satin Finish					
47	Cement	20	bags	45.00	900.00	
	Waterproofing					
	Compound (Branded),					
	908 grams per bag	~~	h	000.00	0.400.00	
48	Cement , Class A, 40	20	bags	320.00	6,400.00	
40	kilos per bag,(Branded)	45	D	70.00	2 160 00	
49	Galvanized Steel Wall	45	pcs	70.00	3,150.00	
	Angle , 1" (W) x 1" (L) x 10' Long					
50	Concrete Nail, 2" Long	10	kilos	120.00	1,200.00	
51	Concrete Nail, 1" Long		kilos	120.00	1,200.00	
52	Metal Furring, ³ / ₄ " (H) x		pcs	150.00	12,000.00	
	2" (W) x 16' Long		F			
53	Self-Boring Black	100	00 pcs	1.00	1,000.00	
	Screw, Countersunk,		1 -	-		
	Size: 1/8" ø x 1" Long					
54	Self-Boring Black	100	00 pcs	0.80	800.00	
	Screw, Countersunk,					
	Size: 1/8" ø x 1/2" Long					
55	Self-Boring Black	100	00 pcs	0.80	800.00	
	Screw, Countersunk,		next page'			

							1	
		1/8" ø x 3/4" Long	20	D O O	620.00	12 400 00		
		Cement Board x 8' (L) x 4.5mm	20	pcs	620.00	12,400.00		
	4 (W) thk.	x 0 (L) x 4.5mm						
		rilling Metal	100	00 pcs	1.50	1,500.00		
		Cement Screw,		•		,		
	Count	ersunk, Self						
		dding Head, Drill						
		Galvanized, Zinc						
		d, Size: #7 x 1"						
	Long 58 Boral	Powder, White,	2	bags	650.00	1,300.00		
		es per bag,	2	Days	050.00	1,300.00		
		age (approx): 65						
	sq. m.							
		dhesive	5	rolls	60.00	300.00		
		glass Mesh Tape						
		x 100 ft.	F	nce	1 100 00	5 500 00		
		iood Lumber, 2" 10' Long	5	pcs	1,100.00	5,500.00		
		ete Nail, 3" Long	2	kilos	120.00	240.00		
		e Plywood , 4'x8'	5	pcs	650.00	3,250.00		
	x ¼" tł	nk.		•				
		Lumber, 2" x 2"	10	pcs	335.00	3,350.00		
	x 10' L	-	_					
		Glue (Water-	2	pcs	90.00	180.00		
		I), 500 grams per						
	can 65 Comn	non Wire Nail,	2	kilos	100.00	200.00		
	1 ½" L		2	Kiloo	100.00	200.00		
		ning Nail, 1 ½"	2	kilos	100.00	200.00		
	Long	-						
		Slip Ceramic	46	5 Pcs	45.00	20,925.00		
		Tiles, Color: 30cm (W) x						
	30cm							
		lain Wall Tiles,	10	Pcs	52.00	520.00		
		White, 30cm (W)						
	x 60cr							
		dhesive @ 25	16	bags	350.00	5,600.00		
	•	er bag			~~~~			
		rout @ 2 kilos	10	bags	80.00	800.00		
	-	Color: White er Stair Nosing	16	pcs	320.00	5,120.00		
		blip and Fall,	10	pcs	320.00	5,120.00		
		Brown with Red,						
		Run) x 2.5cm						
	•	x 8 ['] Long						
ים	Delivery Terms:							
	Fifteen (15) Calendar Days							

The following documents must be submitted from 26 January 2022 to 5:00 pm of 29 January 2022, directly to the Bids and Awards Committee Secretariat located at Room 207, 2nd Floor, Administration Building, Rizal Memorial Sports Complex, Pablo Ocampo Sr. St. Malate, Manila.

- 1. PHILGEPS Registration or PHILGEPS Certificate
- 2. Updated Omnibus Sworn Statement (notarized), per GPPB Resolution 16-2020
- 3. 2022 Mayor's/Business permit, or recently expired Mayor's Permit and the Official Receipt as proof that supplier has applied and paid for the renewal of permit within the prescribed period.

For additional information, please contact the Procurement Office at Telefax: 524-4336 or 524-4808 Loc. 175/143.

Quotations must be properly labeled with reference number on the project offered. In case the deadline falls on non-working, legal holiday, or special non-working holiday, the deadline shall be on the next working day.

The Commission reserves the right to not accept any and all quotations or not award the contract on the following grounds:

- There is prima facie evidence of collusion;
- The BAC failed to follow prescribed procurement procedures; and or
- There are justifiable grounds where the contract will not redound to the benefit of the government without incurring any liability to the affected bidder/s.

ATTY. GUILLERMO B. IROY, JR. BAC Chairman

Date Posted on Philgeps and PSC website: January 26, 2022

RFQ01242022